=

VEHICLE OUTFITTERS”

STAINLESS STEEL BRAAI/BBQ

ENS)

VACCO023

COOKING GRATE

INSTALL TIME: 15 mins

/e GET ORGANIZED

you will need:
1 Front Runner Braai/BBQ Grate
{1 Spanner's/Wrench's provided (Item 6)
[ Clean dry area to work
[J Tape measure

Here is what you are looking at::

~

NOTE:Spanner's/Wrench's (Item 6) will
be removed from grid and used to
assemble Braai/BBQ. Keep with your
vehicles tool kit.

ITEM QUANTITY DESCRIPTION
1 3 LEG
2 3 SPACER
3 3 GRID
4 12 M5 X 20 HEX BOLT
5 12 M5 HEX NUT
6 2 SPANNER/WRENCH

@ COPYRIGHT 2012 FRONT RUNNER VEHICLE OUTFITTERS



’ D
eASSEMBI.E BRAAI/BBD COOKING GRATE

~

A) Measure the diameter of your tyre. Move the legs to the desired position. If fitting the Grate/Braai to your spare tyre, dry fit to the spare
wheel to find appropriate holes. The legs must grab onto the tyre, thus deflecting slightly as you assemble it.

@TE: For tyre diameter 740 mm to 840 mm (29" to 33"). Do not use the spacers (Item 2) provided.

NOTE: The legs might not be placed in the same holes on each leg in order to reach the required diameters.
B) Insert the M5 Hex Nuts and M5 x 20 Hex Bolts, tighten with the Spanner/Wrench provided.

C) If tensioned correctly no extra strapping is required, the legs hold on with enough force.

The Braai/BBQ Grate can be used in conjunction with Front Runner wheel steps and tyre covers.
Visit our website on www.frontrunner.co.za

NG /

@ COPYRIGHT 2012 FRONT RUNNER VEHICLE OUTFITTERS




